
𝑃 𝐴

𝑃 𝐴′

𝑃 𝐵 𝐴

𝑃 𝐵′ 𝐴

𝑃 𝐵 𝐴′

𝑃 𝐵′ 𝐴′

𝑃 𝐴 ∩ 𝐵 = 𝑃 𝐴 × 𝑃 𝐵 𝐴

𝑃 𝐴 ∩ 𝐵′ = 𝑃 𝐴 × 𝑃 𝐵′ 𝐴

𝑃 𝐴′ ∩ 𝐵 = 𝑃 𝐴′ × 𝑃 𝐵 𝐴′

𝑃 𝐴′ ∩ 𝐵′ = 𝑃 𝐴′ × 𝑃 𝐵′ 𝐴′

𝑃 𝐴 ∩ 𝐵 = 𝑃 𝐴 × 𝑃 𝐵 𝐴 𝑃 𝐵 𝐴 =
𝑃 𝐴 ∩ 𝐵

𝑃 𝐴

Non-Independent



𝑃 𝐴

𝑃 𝐴′

𝑃 𝐵

𝑃 𝐵 ′

𝑃 𝐵

𝑃 𝐵′

𝑃 𝐴 ∩ 𝐵 = 𝑃 𝐴 × 𝑃 𝐵

𝑃 𝐴 ∩ 𝐵′ = 𝑃 𝐴 × 𝑃 𝐵′

𝑃 𝐴′ ∩ 𝐵 = 𝑃 𝐴′ × 𝑃 𝐵

𝑃 𝐴′ ∩ 𝐵′ = 𝑃 𝐴′ × 𝑃 𝐵′

𝑃 𝐴 ∩ 𝐵 = 𝑃 𝐴 × 𝑃 𝐵 𝑃 𝐵 =
𝑃 𝐴 ∩ 𝐵

𝑃 𝐴

Independent



Non-Independent

Independent 𝑃 𝐵 =
𝑃 𝐴 ∩ 𝐵

𝑃 𝐴

𝑃 𝐴 ∩ 𝐵
= 𝑃 𝐴 × 𝑃 𝐵

𝑃 𝐴 ∩ 𝐵
= 𝑃 𝐴 × 𝑃 𝐵 𝐴 𝑃 𝐵 𝐴 =

𝑃 𝐴 ∩ 𝐵

𝑃 𝐴


